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Before answering the question, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
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(i) 797 #9% 1 G 30 7% TEGTT F97 81 FeAF F97 1 7% F &

Questions from 1 to 30 are objective type questions. Each question is of

1 mark.
e - A
SECTION - A
(s frm)
(Physics)
1. fr=fafad & @ d9-81 @ d9 99 & e Swe 98 R s oae ? 1
(A) ST (B) @
(C) e (D) faed
Which one of the following materials cannot be used to make a lens ?
(A) Water (B) Glass
(C) Plastic (D) Clay
2. AREE A9 B BEE g0 § GRacH A ST @ 1
(A) gl 2 (B) 3feTew aw
(C) gl 2T (D) GRAMRN &R
The change in focal length of an eye lens is caused by the action of the :
(A) Pupil (B) Retina
(C) Ciliary muscles (D) Iris
3. Hadl & e T TEEEE Bl giRarid & Sl @ 1
(A) FHE ot F (B) WIS St H
(C) (A) T (B) Il H (D) T & FE T
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During the burning of a candle the chemical energy converts into :
(A) Heat energy (B) Light energy
(C) Both (A) & (B) (D) None of these
4. frfated § § @F-a1 faga afe & 787 s ? 1
(A) P=VI (B) P=I°R
(C) P=IR? (D) P:V—2
R
Which of the following terms does not represent electrical power in the
circuit ?
(A) P=VI (B) P=I°R
(C) P=IR? (D) P:V—2
R
5. T Sl UG H & [T &9 QR S A9 B S9N e R 787 X qhdl ¢ 1
(A) g9 9t f&s (B) dEdl a &S
(C) TH RF (D) Ya=i arl &
A solar water heater cannot be used to get hot water on :
(A) asunny day (B) a cloudy day
(C) ahotday (D) a windy day
6. T Rs¥ & JeM R & 71 91F § ? 1
(A) A I (B) G: ITENT
(C) g = (D) ¥R
What is the meaning of first ' R'in 5 R's ?
(A) Reduce (B) Reuse
(C) Recycle (D) Refuse
7. OR X & WM & [ FE TR B 30T G99 SUGHI e 1
(A) S (B)  3fqcT
(C) Twaa (D) SWE F & Fi3 T
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10.

11.
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What kind of mirror would be best suited for the use of solar cooker ?
(A) Convex (B) Concave
(C) Plane (D) None of the above
feedt oty & fp T W & TR ? 1
(A) ST (B) @
(© (D) =
Tehri Dam is constructed on which river ?
(A) Narmada (B) Godavare
(C) Ganga (D) Yamuna
qoe TT H A TN & Jfed .1 Feaw & ? 1
(A) IEET (B) 3TUgaH
(C) fagor (D) 9 & &I T
The splitting of white light into seven colours is called :
(A) Reflection (B) Refraction
(C) Dispersion (D) None of these
frfefead & § i SewEn S A & SERT 78 8 7 1
(A) T B) X I
(C) HT St (D)
Which of the following is not an example of a biomass energy source ?
(A) Wood (B) Gobar gas
(C) Nuclear energy (D) Coal
qle - §

SECTION-B

(e o)

(Chemistry)
‘TR’ H I S Al ST 1 A e 1

Which Acid is present in tamarinds ?
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12. Jifved ReT & oiam @ Ted @ 4 R o 1
Why should Mg ribbon be cleaned before burning in air ?
13. % g e s =w Bl Bl 1
Name a non-metal that possesses lustuer.
14. ©% og /g o R & 99 W T el 2 1
Name a metal which is liquid at room temperature.
15. wdHid H THEES qYE © 1
(A) -OH (B) -CHO
(C) -COOH (D) -COR
Name the functional group present in ethanol :
(A) —OH (B) -CHO
(C) —COOH (D) —COR
16. Zn+CuSo, — ZnSo, +Cu & : 1
(A)  FET AR (B) fedior arfvichanm
(C) fafereenme srfifsean (D) ferenes afeyforan
Zn+CuSoy — ZnSo, +Cu is a :
(A) Combination reaction (B) Decomposition reaction
(C) Double displacement reaction (D) Displacement reaction
17. 339 &1 ava® §F © ¢ 1
(A) CH,4 (B) CyHg
(C) C3Hg (D) C4Ho
Molecular formula of Methane is :
(A) CH, (B) C,H,
(C) CsHg (D) C4Hyg
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18. &aq HET T4 BESIoH dart Gl Hiad A e & - 1
(A)  Ucehred (B) EESIHE
©) USRS (D) BT
The carbon compounds which contain just carbon and hydrogen are
called :
(A) Alcohal (B) Hydrocarbons
(C) Aldehyde (D) Ketone
qls -9
SECTION-C
(ftr fo)
(Life Science)
19. URY § TEA9 SUEE R 1
(A) STl T T8 (B) SIS &1 a8
(C) ST T A e (D) SfeRiIe #1 a8
The xylem in plants are responsible for :
(A) Transport of water (B) Transport of food
(C) Transport of amino acids (D) Transport of oxygen
20. TEEIC & f@eT ¥ I8 HET SESIEHES, ST q°1 Hot adl © oI} I fFbar & 8 ¢ 1
(A)  HIRTH Z (B) ESIHET
(C) ERa & (D) @=®
The breakdown of pyruvate to give carbondioxide, water and energy, takes
place in :
(A) Cytoplasm (B) Mitochondria
(C) Chloroplast (D) Nucleus
105/ 11
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21. 3R S JHAT ERT Bl © 1
(A)  STHIET (B) A&
(C) ST (D) e
A sexual reproduction takes place through budding in :
(A) Amoeba (B) Yeast
(C) Plasmodium (D) Leishmania
22, T § Bd ¢ : 1
(A) SRR (B) iR
(C) df=H (D)  URFTRT
The anther contains :
(A) Sepals (B) Ovwvules
(C) Caspel (D) Pollen grains
23. fr=fafad & & HH-91 Jrplcs e 787 & ¢ 1
(A) a7 (B) drdS
(C) i (D) &
Which of the following is not a natural ecosystem ?
(A) Forest (B) Pond
(C) Lake (D) Crop field
24. f=Rad 3§ § @M TEEe-fE FEeR FEa o ? 1
(A) HUL B AT TG HAT
(B) o1 T&XA & WEc qo 99 §% B
(C) feemer o Yoot ST
(D) Sue @4l
Which of the following are environment-friendly practices ?
(A) Use of cloth bags
(B) Switching off unnecessary lights and fans
(C) Walking to school
(D) All of the above
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25. e fhed W A B ? 1
(A) HAEH & A1 1T Al B (B) &

(C) &l (D) TH & &I T
Spinal cord is protected by :

(A) Vertebral column or back bone (B) Cranium

(C) Ribs (D) None of these

26. TR X § (EA9T Ud T 1 BE EEA T . FARUI | ] 1

(A) TRa=H (B) Wit @

(C) o (D) ErEE o<

Control and co-ordination are the functions of the hormones and............... in
our body.

(A) Brain (B) Relex arc

(C) Nervous system (D) Chemical Co-ordination

27. HA-A WA G § AN Al IR AT § g # gRe oM B o 1
Which layer shields the surface of earth from ultraviolet radiations form Sun ?

28. REdl § sF-a1 i o e & ? 1
Which sex chromosomes is present in females ?

29. HEE & AARD FER W b AN S8 gadf & & B ..o FEd B 1
The inner lining of small intestine has numerous finger like projections
called .................. .

30. Hed I X P @9 (TT) T 99 (tt) Nl T HHLOT HEET qA1 399 G Garg NS (F1)
Famad g 1
Mendel crossed a tall pra plant (TT) and a short plant (tt) and produced
progeny (F;) from them. All plants were ...................... .
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